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Referring to Problem A-2-2, we have
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B-2-5. Referring to Problem A-2-4, we have
k
} Za.h = N 1_1 X(z)
h=0 T2
where
_ [.h] _ 1
X(z) = %ta ] T



Hence

h=0
P
z 2 2]
A A R A e ey
_ z_1 Z
) (1 - az_l)2 ) (z - a)z
Flaes - 0] - 355 6] - fa[ - }
_ 27 __ (2=
(z-2)°  (z-a)
’é/[k(k -1)-<+(k-h+ 1)ak‘h:l
=%[§ék(k-1) (k—h+2)kh+1:l
where ) j?g X(Z’ a)
X(z, a) =—(———)———h(“ L
zZ - a)
Henc?i
}[k(k S 1) e e(k-h+ 1)ak‘h] - 2 x(z, a)
= (h - 1)! zh(z - a)_h_l = (Zhj i)h+1
B2y, rom migwe 2.8 werave
x(0) = 0, x(1) = o, x(2) = 0, x(3) = %
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B-2-8. By dividing both numerator and denominator by z4, we have

X(z) =5 + 4z-1 + 3z-2 + 223 + z—4

This last equation is already in the form of a power series in z-l. By inspec-
tion, we have

x(0) =5
x(1) = 4
x(2) = 3
x(3) = 2
x(4) =1
x(k) =0 k>5

Note that the given X(z) is the z transform of a signal of finite length.

B-2-9
1. Partial-fraction-expansion method:
X(z) = z71(0.5 - z71) _ __2(0.52 - 1)
(1 - 0.5z71)(1 - 0.82-1)2 (2 - 0.5)(z - 0.8)2
Hence,
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or
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Thus,
x(k) = -8.3333(0.5)K + 8.3333(0.8)k - 2x(0.8)k-1, k=0,1, 2, ...

2. Computational solution with MATLAB:




